Soustraction Avec Un Zéro (D)

800
- 596

400
-216

600
-163

100
- 20

700
- 584

900
- 376

200
- 34

Calculez la différence.

300
- 215

800
-779

700
- 445

500
-476

100
-54

100 200
- 25 - 184
400 900
- 326 - 135
200 400
-15 - 262
200 500
- 44 - 259
600 800
- 597 -79
400 100
- 288 - 89
600 600
- 510 - 373

700
- 108

100
-70
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Soustraction Avec Un Zéro (D) Réponses

Calculez la différence.

800 100 200 300
- 596 - 25 - 184 - 215
204 75 16 85
400 400 900 800
-216 - 326 - 135 -779
184 74 765 21
600 200 400 700
-163 -15 - 262 - 445
437 185 138 255
100 200 500 500
- 20 - 44 - 259 -476
80 156 241 24
700 600 800 100
- 584 - 597 -79 - 54
116 3 721 46
900 400 100 700
- 376 - 288 - 89 - 108
524 112 11 592
200 600 600 100
- 34 - 510 - 373 -70
166 90 227 30
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